Chapter 21 Problem I (+1)




Name _________________________

1. How many moles of KOH are needed to completely neutralize 1.56 mol of H3PO4?

2. How many moles of sodium hydroxide are required to neutralize 0.20 mol of nitric acid?

3. How many milliliter of 0.45M HCl must be added to 25.0 mL of 1.00M KOH to make a neutral solution?

4. What is the molarity of phosphoric acid if 15.0 mL of the solution is completely neutralized by 38.5 mL of 0.150M NaOH?

5. What is the mass of 1 equivalent of each compound?

a) H3PO4
b) NaOH

6. Determine the gram equivalent mass of each compound?

a) Mg(OH)2
b) CH3COOH

7. How many equivalents are in each sample of compound?

a) 20 g NaOH

b) 7.4 g Ca(OH)2
8. Determine the number of equivalents in each sample.

a) 9.8 g H3PO4
b) 19.6 g H2SO4
37. Identify the products and write balanced equations for each neutralization reaction.

a) HNO3 + KOH (
b) HCl + Ca(OH)2 (
c) H2SO4 + NaOH (
